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Tk 6 &F 1 015.2 16.8 21.4 12.6 65 6.2 2.1 800.5
7 1 015.3 15.6 20.0 11.5 67 6.5 2.0 1 028.0
8 1 015.5 15.6 20.1 11.5 67 6.6 2.7 1 007.0
9 1015.2 16.1 20.6 12.0 65 6.4 3.0 1 047.5
10 1 015.4 17.3 21.4 13.5 67 7.1 3.0 1 261.0
1041 H 1 020.7 5.0 8.8 1.6 66 6.4 3.5 109.5
2 1 020.0 7.0 11.2 2.9 65 6.3 3.1 81.5
3 1 018.8 9.9 14.8 5.0 58 7.2 3.2) 57.5
4 1 016.0 17.2 21.9 13.1 68 6.6 2.6 97.5
5 1014.2 21.2 25.7 17.0 65 8.1 3.0 124.5
6 1 009.5 23.1 27.0 19.7 70 8.6 3.1 157.5
7 1 007.1 27.6 31.4 24.1 69 8.0 3.4 69.0
8 1 008.8 29.0 33.4 25.6 70 8.3 2.7 100.0
9 1011.3 25.3 28.8 22.2 N 7.5 3.0 242.0
10 1016.2 20.3 23.9 17.0 74 6.9 2.7 213.5
11 1019.3 12.6 17.0 8.4 66 5.4 2.8 3.5
12 1 022.3 9.0 13.2 4.9 65 5.4 2.7 5.0
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TR 6 1.015.2 14.4 20.5 9.4 75 7.1 1.6 901.5
7 1 015.3 13.0 18.8 8.4 79 7.2 1.5 1 347.5
8 1.015.7 13.1 19.0 8.4 78 7.2 1.5 1.127.0
9 1 015.4 13.6 19.4 8.8 78 6.9 1.5 1 549.0
10 1 015.7 14.9 20.4 10.4 79 7.5 1.5 1 584.5
LOF1H 1 021.0 2.4 7.2 A 1.2 82 7.3 1.5 110.5
2 1 020.4 4.8 10.5 0.1 76 7.6 1.6 75.5
3 1.019.0 7.8 14.9 1.8 69 7.0 1.7) 78.0
4 1 016.3 15.3 21.6 10.0 78 6.5 1.5) 165.5
5 1.014.5 19.2 25.0 13.9 74 7.8 1.6 137.0
6 1 009.8 21.2 25.9 17.2 81 8.7 1.5 181.0
7 1 007.4 25.2 30.2 21.5 80 8.0 1.5 293.5
8 1 009.0 26.6 31.9 22.9 79 8.1 1.3 54,0
9 1 011.6 23.2 28.5 19.1 78 7.4 1.4 225.5
10 1 016.6 17.8 22.5 14.2 83 7.8 1.3 246.0
1 1.019.7 9.5 15.3 4.9 80 6.8 1.3 8.0
12 1.022.7 5.4 1.7 0.9 82 7.2 1.2 10.0
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B = i £ B
& B | B (20.m5mm) = % & (ilogs) e
2288.3 52 76 18 8 10 5 ] 6
2061.9 47 88 20 2 13 5 35 7
2043.5) 46) 100 19 9 1 28 1 8
2156. 1 49 100 16 1" 14 67 3 9
1 893.5 43 115 5 9 12 30 2| 10
136.7 a4 10 3 = . 6 D
139.5 46 10 1 - - 4 o2
183.1 50 9 1 i 2 4 B
171.8 44 14 - 3 = 1 il 2
163.6 38 14 - | i | il s
137.1 3 " - - - ! B
184.7 42 n _ - 1 3 -7
175.9 2 7 - = 6 S B
131.7 35 14 - . 2 2 | 9
141.8 40 1 - | - 2 |0
157.7 51 3 - 3 Y 4 N T
170.3 56 1 - - . 2 o Y
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1.972.7) 45) 105 36 36 14 1 - 6

1 693.3 38 130 44 22 7 - 19 7

1753.7 39 121 4] 40 1 1 ] 8

1 815.7 41 137 31 38 10 1 3 9

1 603.0 36 133 15 39 7 = 2| 10
104.4 34 15 1 6 - - - 1H
102.6 34 10 3 4 - - - 2
172.0 47 10 1 1 - 0) - 3
166.2 43 13 - - 1 - 1 4
162.1 38 14 - - - - 1 5
127.0 29 13 - - - - - 6
145.1 33 13 - - 3 - - 7
147.3 35 10 - - 4 - - 8
108.5 29 12 - - 1 - - 9
118.4 34 1 - 4 - - - 10
124.4 40 7 - 12 - - - 1
125.0 41 5 - 12 - - - 12
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